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ERERIEY, 9TFNERFHRATARIAEN, BHRA
B, BARSESRBHBEFEAMIRARBEHER. Bdxtximn
R, ENEFERMNOMREXESI RRGEFRInEE
RSl ARRS, ETXHER RBEIFPAEXENE
e, RILRRA—BREMAE,

—RAEN MR ARYEE. Hik, #E8EEmIEn—HH
KARBARENR.

%3 1 EFTISREHITFHERE, HAREEER &
fzahid (A RRHFEBRAIARSS, MEERHESE E 8. Fi
.

This gas has/have a greater density than air.

This gas has/| have | a greater density than air.
. Water boils/boil at 100° centigrade.
. Action and reaction is/are opposite and equal.
. A thermometer measures/measure temperature.

. Oxygen and hydrogen is/are gases.

(2 T Y T S R

. Mathematics is/are an important subject for an
engineer.
6. The light bulbs in this room produces/produce 100
watts each.
7. The liquid in those bottles is/are dangerous.
8. The results of the experiment proves/prove the law.

1



9. Everybody recognizesfvf“é:éc')gniie the importance of

practical work.

10. On average, women lives/live longer than men.

11. Some substances, most of which are metal, is/are
good conductors of electricity. |

12. Most kinds of wood floats/float on water.

13. At least one kind of wood sinks/sink in water.

14. The average monthly rainfall figurés for this area
shows/show 'a small decline in annual total over
the last thirty years.

15. The apparent loss of weight of a substance which
is immersed in a liquid equals/equal the weight of
the displaced liquid.

%FﬁA@?(@M@ﬁﬁ)?ﬁ%%%~Aﬁ%ﬂﬁ%¢
MERES:. FEHEASERE L, 9FHEERYNRE L.
EMLaMgLsYH, FHRRG—EAAR. HEfOEBENCET
& Z-1Al |

EEIMEDI4MA 155 TE R DIERTE—E.

“I don’t want to go and see him today.”

“What are you going to do tomorrowp”

EFREDED, GFHARREEMRENR, mahidissm
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B, XHMERTEE
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These test-tubes.

. Cast-iron not as strong as steel.

. Oxygen mnecessary for all growth.

. Oxygen and hydrogen gases.

. Oxyen, like hydrogen, a gas.

This solution a mixture of chlorine and sodium.

. Angles measuring 90° right-angles.
The natural water in many parts of the world hard.

WO 0 ~1 B G b W DN e
L ]

. Gold and silver not radio-active elements.

. One of the machines out of order.

-
[ )

. Two of the three pieces of metal “copper.

ok
oo

. A beaker or a small glass necessary for this expe-

riment.

fun—y
w
L]

The spiral motion of air above a low—pressure area
always opposite in direction to the movement of
the hands of a clock.
14. The breaking strain of the rope 200 kilos.
15. 200 kilos the breaking strain of the rope (Be careful})
ERtERRY, Z—MebEEHRmBRDEHE M0 3L
have, HITRIESHEWE MBS HRIERFHFEEZEN, X

M8 F e REE,
#%>) 3(a) Hliszk has 7,
1. Water a boiling point of 100°C.
2. The boiling point of water 100°C.
3. Stainless steel a metal alloy.
4. Stainless steel rust-proof.
5. This car a maximum speed of 140 kilome-

ters an hour.
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6. The maximum speed of this car 140 kilo~
meters an hour.

7. The angle of reflection 9°.

8. The simplest hydrocarbon methane which

one carbon atom and four bydrogen atoms.

9. In chemistry each element its own symbol,
which usually a capital letter followed by
a small letter.

10. If a plane figure three straight sides,
it a triangle.

%3 3(b) JHhas BREAFZLLNG.

1.
2.
3.
4.

5.

giving the freezing point of a liquid
giving the melfing point of a metal
giving the density of a substance
giving a property of a square
giving a property of a triangle

43 4 THEXEBEEEFEEFHIAE, B is, are, has# have
5 X AT

1.
2.
3.
4.

A triangle a figure which has three straight sides.
The Dead Sea a high salt content.

There several types of pumps.

Most kinds of stainless steel a small percentage of

chrome.

. Stainless steel the property of resisting corrosion.

Modern bridges often several kilometers long.
A modern bridge sometimes a length of several

kilometers.

. Isosceles triangles two equal angles.

The total population of the world about 3, 500

million.



10. A hexagon a plane figure with six sides.:

B % T T — B AR R,

The Moto 1100

The Moto 1100 is a small family car. It has a small

engine which is in the front. The engine has a capa-

city of 1,100 cubic centimeters. It is a front wheel

drive car. The gear lever is on the floor. There are

seats for four or five people. It has four forward gears

and a reverse. It has a maximum speed of about 130 km

an hour. One advantage of this car is that it has a

very low fuel consumption.
Eik BEBEIEF MFE A be f have 1 1 35 BB A
o R BN B AT,
%3 5 fiEh. MSHESHER TROEM—FHEL
R, i be #1 have EA TWEEDIT; ABSHTHESHE
., UMEE. BE%E. FRESBALETR.)

= RB—EAEN SR

(a)

(b)

(¢)

(d)

—RAENHTRRSEEHIENTE.

He studies physics six hours a week.

The crude oil then passes down the pipe-line.
— AN AT #RrE R .

Water freezes at 0.

Area equals length times height.

— BN A T 3 LR R F 5.

This type of vinegar contains about 3% acid.

The liquid in the test-tube weighs 55 grams.

— RBUAER G B T8 KR



The filter paper then collects the impurities.
The temperature rises until it reaches 100°, but
after that it remains constant.
HAiEd, BRAEA o mERZRNmNES, SER—K
BN,
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they pass he passes
they push he pushes
they watch he watches
they mix he mixes
they go he goes

LAY SRR, YROVEES, MBYRBR i, Bl
es,
they hurry he hurries
they magnify he magnifies
LAY & RrEhA, YR AXEE, SEE—EHNRL On
$),
they obey it obeys
they say he says
%> 6 MESAHTNERERNKS TH4aF.
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1. He (study) biology.

2. The current (pass) along the wire.

3. This ring (weigh) 125 grams.

4. Sound(travel) at a speed of 333 meters a second.
5. Rain (wash) salt from the soil.

6. This factory (employ) thirty people.

7. This bird (catch) insects as it (fly).

8. Water (solidify) or (turn) into ice at 0°C.

9. Glue (fix) or (stick) two surfaces together.

10. The down-stroke of the pisten (compress) the

mixture until it (explode).

%3 7 BHTHHEEZARNBEREX.

1. study 6. analyze 11. convert 16. lay

2. reach 7. do 12. possess 17. employ
3. try 8. design 13. mix 18. qualify
4. think 9. apply 14. assemble 19. draw
5. stretch 10. weigh 15. exchange 20. supply

%3 8 TEETARHEHABAT. FaiRXEaT,
HEHAERODT, BREPHTEESERAEIE—1. 81
ﬁ Eﬁﬂﬁ‘éﬁaﬂ&o ('_') %H’\‘Z‘%Fﬁﬁ'ﬁ]o

Fresh water freezes at 78°C.

Alcohol equals about an average of 70 years.

Copper liquefies at 10 per cent alcohol.

Oxjrgen weighs — 0.9104 meters.

Wine consists  at —183°C.

A yard contains at one kilogram per litre.

Sound live —_ 2 oxygen atoms and 1
carbon atom.

Mercury travels of 1083°C.

Men melfs for 760 mph at sea level.
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A carbon dio- boils at ~39%.
xide molecule
%3 9 ABTHRE, HESHNINABRIERBER.

Around the earth there (be) a large area of gas
which (form) the atmosphere. This layer of gas-—or
more accurately, gases—(provide)some of the chemical
madterials which man (need). The other raw materials

(come) from the earth and the sea.

About four—fifths of the atmosphere (consist) of ni-
trogen. The remainder (be) mostly oxygen. The other
five gases (be) very rare and, in fact, (mmake up) less
than 1 per cent of the total atmosphere.

Although these gases(be)rare, at least two of them
(have) common uses in the field of electrical lighting.
Electric light bulbs usually (contain) argo. Neon (be)
also useful because it(give)out light when an electrical
current (pass) through it.

%3 10(2) BB THX—BR%E, MABRETEAINRASE
HAZAN. BRAEA—-A317, EEHRMEIEH—BE.
Colour

When sunlight strikes an object the colour of the obje-
ct depends upon the wavelengths which the object
. If, for example, grains of sugar

equally all the wavelengths of the spectrum the grains
white. If a surface reflects only the wavele-

ngth which produces red and the other waves
of the spectrum, the surface red. Black is the
absence of colour because black objects all the

light of the spectrum.
absorb appear veflect



absorbs appears reflects

43 10(b) MAEAGXNEE T mX LR,

1. What colour surface absorbs the greatest amount

of heat?

2. What does a mirror dot

3. How fast do light rays travels

4. Some rays are invisible—give at least two exa-

mples.

%3 11 HEXRR-ANEIREEHSTIE. B EH TED
MR EM—-RzESBPHEANAENRGTH, HE, Xx&qTF
PIHEFNG F & R, FAREXMAHEE, RHXEaFH
EMRHETIGF, HHEforR ETHERABERIX GnilhSE,
W al Ll A first, then, next i) . _ '

FETR EGITR
{a) Refill stroke (b) Compression stroke
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- X Y
A inlet valve B outlet valve A B

Refill stroke

. 1. A mechanical force pulls the piston upwards.



2.

3.

4.

5.

The reduced pressure causes the imlet valve(A) to
open.

Water enters the cylinder and fills the space bene-
ath the piston.

The outlet valve(B) remains closed because of the
pressure of water in the outlet pipe.

The pressure in the cylinder beneath the piston
begins to fall.

Compression stroke

. Water continues to flow up the tube until the

piston reaches its lowest point.
A mechanical force pushes the piston downwards.

The cycle starts again.

. This causes the inlet valve to close.

5. The high pressure water is forced up the outlet

6.
7.

8.

tube.

The cylinder now traps the water because it cannot
escape back through A.

When the pressure is sufficiently high the outlet
valve opens.

The pressure beneath the piston begins to rise.

%3 12 HABHEHZOIERE GT2BERED,

MEEHIEIEEML, EREEENEERIEPROEAE
EMMEERT, BEHZEILE, —RAEHETEIAMERXL
BB RSB T do, do BAE L,

statement negative question

Wood floats Iron does not float Does wood floats

Sticks burn Stomes do not burn Do stones burng
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